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Fill in the blanks in the following sentences to complete the explanation. Find the limit of the following expression.
LoEd avEw b A
@%’U” £ arc method WJ%E F'Fﬁ%ﬁ
AW Zh 2 Z HydLn< . . .
PR1IOHIZEBWNT, EX 100 Tﬁ‘éﬂfﬂ:uﬁ @ lim sin x @ lim cos x
Radius mrcle length arc central angle X0 X0
s Tt Ao n<
DKRES % TIOTEVWY, INEHEMET LA
size  ----- = 0
A . . Lr3nes
D FRLGE EWVNI, KITTUIE A W
ER1oMON B ok 1 % 1 1
i 1 DOH D D ’G‘ 3 : S : =
circumference ~ '------- TC @ lim sin X ©@ lim cos X
= vy Zh bwd Lhm  fToTToos X0 X0
EETOM O B T CTHh D
central angle ******** =90
BIENRE  bhEE AT B 5 LS
@ KommS, (FEr 7L
fan shape area
EEroMOEMEL R B 1 1
tHEr R - ° @ lim x sin 3 @ lim x cos ~
BHED i‘ WA t) 99 Lh o hw X—0 X—0
I B DR Sy 1% B 2 bl B 0T
proportional
Sy T
S 0= |sin % =7 &
LoT §, =
0| «x sin% < | x |
EoLShERDS UYL ks ~h B3 LB
@ Sl MO S, (20 LM
isosceles triangle area
lim |x|=0 X7
SZ = X—(
broh Shhod WA Tk TV < B lim x sin % =0
@ H f =A% O mE S (Eaﬂr,ﬂiﬁx#%) X0
right tria le area
o
S h = 0
height ~ ----------imoiooo-- .
. sin x . COS X
v lim Ty Y lim =
Sp= | —
. sin x 0§|Sinx|§/ iy
® lim
x—+0 X
L&, Sy.Sy.Sp »K AN B LY
0<x< —— @ , O K B .

2 0-%2> "R size relationship )< sin x < /
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lim = 0 &
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Lo T, <x<
n ~ A
%30 % smx>0’C$'J%>k sin x
each side divide 11 0
777777777777777777777777777777777777777777777777777777 X— 00 x
< <
””””””””””””””””””””””””””””” . sin 2 x . sin3x
ERRS 4',7 1 1 —_ -
i % &V reciprocal © ;El() X ® ;El() X
> > 1 sin 2 x
e
7
TEHILDOFEBITED Principle of scissors - 5

”””” sin x
lim cos x = LV lim————=
x—>+0 x—+0 X
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1. /k@j( ==K @ %i’%&)f, nﬂ@q %?{:EXJ@' J:o 3. /j’(@ {Eﬁ ;k&) J:o Find the limit of the following expression.
Fill in the blank’s’in the following sentences to complete the explanation. T tan x
A bw 5 Lamn< WJ%E@ lim x
0<x<7@k% #?%r,EP:uﬁx@Ejﬁ/OAB =0
< Th Rl woh b rlith sin x
%T’E@, RAICBIT M OHER L n"V?OBk"bé “cos x sin x ;
,H%Tkﬁ‘é :31513% x :g}lﬁnol x cosx
%%i@fjétjjz%ﬁ;:%m > %) k ATV . tan 2 x
i x HED lim ——
X—
ANOAB E‘z fF/OAB AOAT
T Syt
L& o
o E 15L& sinx < x< tanx
””””””””””””””””””””””””” o En 1 — cos x
x BIEQ lim ———
Sy
I H|Zsinx >0 THEIS L e X0 x
I et s
UL e W > x x—0 x(/+cosx)
L _ 2 in?
I : : . sin X = lim /C#i lim .o smex
7T }Clgiocosx:; ) }CEELO = x>0 x(/+ cos x) -0 x(/+ cos x)
777777777777777777777 sin? x x
_ — N 1 l = 1 _
x—=>—00D¢EX|Tx=—t LBl L, t— | ) xg% x2 /L cos x
. . . s, T bAED 1 —
lim smx o s1n( t) — lim sin ¢ HEE ) lim %
x>—0 X t—>+0 —t to+o Lo =0 x
X R Y
2. /j’(@ ﬂ} BE% ;k b)) J: Find the limit of the following expression.
I
PO tim S
X—0 X
— lim sin x I
X—() X 2 2
bA ] sin x
HEO 31513% 3x
hov v ]
BEE® Lim sin 2 x
X—0 x
o . sin 2X b AN X sin x
= lim X 2=12 ;
X0 2x HE G 31513% 1 — cosx
bAEN ;
if B @) }Clﬂ% s1nx4x
AN . sin 3 x
PO lim 5%
— lim sin 3 x bx 3 3
x>0 3x S 5 x 5 5
Y . sin 2 x
AEO Tim “inx
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1. /k@j( ==K @ %gy)fy nﬂ@q %?{:EXJ@' J:o 3. /j’(@ {Eﬁ%;k&) J:o Find the limit of the following expression.
Fill in the blank’s’in the following sentences to complete the explanation. e
XA B9 LAm< BIERE WJ%E@ lim x2 sin
0<x<7®k€< 1, L fAx DF B OAB -0
’Cg Zh ot A ié}f<’d‘/u
SN @ I‘, 7| /\ .
f",f“’ INEESIPRAIOr S SH T N0 B S8 o<lin L |sr 20 0| w snt|s|e
NN % T k ‘a_‘ é
WAEE  Eulrd  hA — X 2 S >
ﬁ%,a@j(d\%%zék x—0 Ok E, x 0 T&H M5
U S F 27 S , lim [x? sin L‘0 lim x? sin L:0
ANOAB ):J:'a ﬂ:/OAB ANOAT x=0 x x=0 x
7777777777777777777777777777777777777777777777777 (O ~ 1 A LAY 1
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, R R @ 1111(1) x2 cos
T S < g xixtans
oo
o E 15L& sinx < x< tanx
X
X5 Zsinxy >0 THID L -
sin X
Fxdo sin x
UL e W .
L LA . x2
) ; sin x FlIE@ lim T cosx
ZZ T limcosx = £V lim = *=0 cos x
x—+0 x—+0 X
,,,,,,,,,,, . x? (7+ cos x)
! ‘ = lim
X —0D L X Fa=—t LB L, t— | Ly =0 (7~ cos x) (7 + cos x)
, sin x sin (—1) _ sint — lim ? (/4 cos ) — lim x? (/+ cos x)
lim =lim ———— = lim X0 /— cos? x X0 sin? x
x->—0 X t—>+0 —t t>+o L
. x 2
¥ x <A = lim ( - ) ><(H—cosx):2
2. /j’( D i [R% ;k O X, Find the limit of the following expression. X—=0 sin x
=N . S]_n 3x bHATEWN . X
PO lm MO lim oo
. sin 3 x
— 1 SMLIX oo
xlf% 3 x 3 3
HATEN 1
HEOD lim Sno5x
x—0 x
o . x
HlIE® lim —————
x>0 Sln 2 x
— lim Ao L
x—) sln 2x
bl . sin 4 x
HE® 31513% X M%@) N x sin 2 x
" 21— cosx
o fEZn 1
) R B hm sin T =
= lim snt= 0
=40
HATE N .
HEEG lim cos
X— 00
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1. /k@ﬂ? (B2 ke &, Find the next limit. | 2. RO R %K K, Find the next limit.
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OD (3 3% AB@% BE2E DB TH DM S ALEL xr T PA
x Bl fg PR lim —%:?k&’)ot
ZAQOD = = r—>+0 PA
T b 1 < k)?éau’t/u F A
sin%:AD,AB:zAD:Q sin% G AP D% E2%%4?k92AP@&5%BkT5
N /AOB = —-
cos — = OD x 2 x
2 sin T:AB , PA=2 AB =2 SinT
x
CD=0C—-0D=7— cos — A
2 PAEPADE > rme PA—=/ xx—ux
X
lim  —SD i T m  PA
x—+0 AB? x> +0 ., X x—+0 PA X
4 sm 7 9 X ——
= lm, : r a8 ;Zc =/
/— cos —— - i X - S
_ 5 2 2 sin B 2 sin B
X0 (H— cos i)(/~ cos i)
2 2 YA X1 A AH2 b
7 7 Fﬁ E@ ﬁ]} IEE lim ff;k&)io
x=to 4 (H— cos L) §
2
bAEW ER R HL
He I Lim SR xR k.
x—>+0 AR2
. N9
bW ER R PA B{:
HE® M R lim &R X,

x—+0 PQ




